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#include <iostream>

#inclu climits>
using na std;

t nums[1000000] ;

t aux[1000000] ;

t solveMin(int 1, int r) {

if (1 >= r) return ©;

t mid = (1 + r) / 2;
minval = INT_MAX;

int acum = 0O;

r (int i mid + 1; i <= r; ++1i)

minval min{minval, nums[i]);
EV N minval;
acum += minval;

}

minval = INT_MAX;
int curr = mid + 1;

int preans = 0;

for (int i = mid; i >= 1; --i) {
minval = min(minval, nums[i]);

while (cu <= r && aux[curr] >= minval) {
acum -= aux[curr];
curr++;

+

preans += acum + {(curr - mid - 1) * minval;

i

return preans + solveMin(l, mid) + solveMin(mid + 1,

t solveMax(int 1, int r) {

if (1 >= r) return ©;

nt acum

~ (int i mid + 1; i <= r; ++i) {

maxval max{maxval, nums[i]);
aux[i] maxval;
acum += maxval;

maxval = 0;
int curr = mid + 1;

int preans = 0;

for (int i = mid; i >= 1; --i) {
maxvVal = max(maxval, nums[i]);

while (curr <= r && aux[curr] <= maxVval) {

acum -= aux[curr];
curr++;

+

preans += acum + {(curr - mid - 1) * maxVal;

}

return preans + solveMax(l, mid) + solveMax(mid + 1,




